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1 Different kinds of brackets

Braces: default

Braces 2: curvatur=1, type=2

Parentheses: ticks=NA, curvature=1, type=5
Square brackets: ticks=NA, type=4

Chevrons: ticks=NA, curvature=1, type=3

Stump brackets: ticks=NA, curvature=0.2, type=3
Square brackets with tick: type=4

Double tick braces: ticks=c(0.25, 0.75)
Negative tick braces: ticks=-0.5

Multiples ticks: ticks=c(-0.2,-0.4,-0.6,-0.8, 1), type=4
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Figure 1: Get a specific bracket with use of different arguments.



2 Direction of brackets

r A ~ x1=0, y1=18, x2=6, y2=18, h=1,
. ~" J x1=6, y1=16, x2=0, y2=16, h=1,
r A ~ x1=0, y1=12, x2=6, y2=12, h=1,
- ~ J x1=0, y1=10, x2=6, y2=10, h=-1,

x1=0, y1=4, x2=6, y2=8,  h=sqrt(2),

x1=0, y1=2, x2=6, y2=6, h=-sqrt(2),

Figure 2: Two ways to change direction of brackets.



3 Set ticks argument

ticks = 0.5 (default)

ticks =0.75

ticks =09

ticks = seq(0.2, 0.8, 0.2)

ticks =-0.5

ticks =-0.5, h=05

ticks = ¢(-0.25, 0.5, -0.75)

ticks = NA

ticks = NULL, h=0.5

ticks =0

Figure 3: Different kinds of ticks and brackets without ticks.



4 Curvature argument

K_M curvature =1, type =1

A curvature = 0.5, type =1

A curvature = 0.1, type =1

/\ curvature =1, type=2

/—/H curvature = 0.5, type=2

{ \ curvature = 0.1, type=2

/\ curvature =1, type =5, ticks=NA
/ N\ curvature = 0.5, type=25, ticks=NA

/ \ curvature = 0.1, type =25, ticks=NA

Figure 4: Curvature argument with different types of brackets.



